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SAMPLE QUESTION PAPERS FOR 100% SUCCESS IN MATHEMATICS
EVERGREEN MOCK TEST PAPER (SOLVED)

/CGeneraI Instructions )

first 15 minutes. This time is to be spent in reading the question paper.
(ii) The time given at the head of this paper is the time allowed for writing the answers.
(iii) Answer all questions from section A and any four questions from section B.

answer. Omission of essential working will result in the loss of marks.
(v) The intended marks for questions or parts of questions are given in brackets ().
L (vi) Mathematical tables are provided.

(i) Answer to this paper must be written on the paper provided separately. You will NOT be allowed to write during the

(iv) All working, including rough work, must be clearly shown and must be done on the same sheet as the rest of the

~

(SECTION : A (40 MARKS))
(Attempt all Questions from this section)

Q.1. (a) List price of a cooler is Rs 5940. The rate of sales tax is 10%. The customer requests the shopkeeper
to allow a discount in the price of the cooler to such an extent that the price remains as Rs 5940

inclusive of sales tax. Find the discount in the price of the cooler.

Jat+tx+va-x

(b) Find x from the equation : —————= =»

(¢) A sum amounts to Rs 2916 in 2 years and to Rs 3149-28 in 3 years at compound interest, find (i) the

rate of interest per annum and (i/) the sum.

d Q0 r g
. — -z +
Sol. (@) We can use the formula; Amount payable = x ﬁ 10 OB@ 1 OOH
Where x =L.P, d=rate of discount, r = rate of sales tax
Here S.P. =Rs 5940, L.P.=Rs 5940, r=10%
0 5940 = 5940 ﬁ—imﬁhﬂm 0 T ﬁ L
a 10000 1000 10 1000
d 10 d 10 1
- 0 T . 00 T T
100 1
a d=—=9—
11 11
. 1
[0 Rate of discount = 9H %
. 1
Hence discount =9 T % of L. P
100 1
= F X 100 x 5940 = Rs 540
) Gi Ja+x +ia—x b
iven —_— = -
NJa+x—~a-x 1
Wa+x +Va*x)+(\/a+xf\/afx) b+1 ..
= — [By componendo and dividendo]
(x/a+x+x/afx)*(\/a+xfx/afx) b-1

2\a+x b+1 va+x b+1

= 0 = —
2Ja—x b-1 Ja—x bh-1
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. atx b +2b+1 0 o both sid
P o opl n squaring both sides]
(a+x)+(@—x) (b +2b+1)+(b* —2b +]) .
O A T3 3 [By componendo and dividendo]
(a+x)=(a=x) (b2 +2b+1)—(b* —2b +1)
2 262 +2 241
0 2a _2b 0 a b
2x 4b X 2b
2ab .
O == is the required value of x.
b~ +1
(c) Here A; =Rs 2916, ny =2 years
A, =Rs 314928, ny = 3 years
Principal (P) =?, Rate=R =?
R " R [T
Now A = ﬁ"'— O 2916 =P ﬁ"'—
o 100 ' 100 @
R ? R
A, =P d+— O 314928 =P ﬁ"'— e (1
2 ﬁ ood  f 100 (@)
Dividing (ii) by (i)
3149-28 R R 314928
=1+ — O — = -
2916 100 100 2916
0 ‘R 314928-2916 23328 0 23328
100 2916 2916 - 2916
O R =8%
From equation ()
T g

8
2916 =P ﬁ"'ﬁﬁ =P BZ?B

P =2916 2 2 2500
= X — X — =
27 27

O The sum = Rs 2500 and rate of interest = 8%.
Q.2.(a) Ifx+2 and x — 3 are the factors of x> + ax + b, then calculate the values of  and b, find the remaining
factor.
(b) The marks of 15 students in a test are as follows : 11, 19, 13, 15,
16, 11, 14, 12, 16, 13, 20, 14, 15, 18, 15. Calculate (i) mean (ii) median
(iii) mode.
(¢) A, B and C are the points on a circle. The tangent at C meets
BA produced in T. If OATC = 42° and OACT = 48°, then find JAOB.
Sol. (@) (x +2) and (x — 3) are the factors of fix) =x> + ax + b

O f(=2)=0
O (2P +a(2)+b=0 O -8-2a+bH=0 ()
Since (x —3) is factor of f'(x) O f(3) =0
B3 =0BP+a@B)+b O 27+3a+b =0 ...(i0)
Subtracting (i) from (if)
27+3a+b) —(-8-2a+b) =0 O 27+3a+b+8+2a-b=0
O 354+ 5a =0 O Sa =-35
=35
O a=—=-
5
Put a =—"Tin (i)
-8-2(-7)+b =0 O -8+14+b=0
O 6+b=0 O b=-6

(i) e-mail : evergren@del3.vsnl.net.in
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Putting the value of @ and b in f{x) then equation becomes x> —7x — 6 2 x—6 m Y+ 1
(x +2) and (x— 3) are factors of x> — 7x — 6 then other factor is 3 6x — 2
=T+ T+
X —7x-6 X —7x-6 —x +x2-6
+D(x-3) 2 -x-6 T x+x’ 16
O Other factor is (x + 1). 0
Sum of observations
(b) Mean = -
No. of observations
I+ 19+13+15+16+11+14+12+16+13+20+14+15+18+15 222
- 15 T 4R
Median : Arrange the data in increasing order
11, 11, 12, 13, 13, 14, 14, 15, 15, 15, 16, 16, 18, 19, 20
Number of observations is 15, which is odd.
h h
O Median = Eﬁ%lﬁ term = ﬁ%ﬁ term = 8th term = 15
Mode : Clearly 15 occurs maximum number of time
O Mode = 15
(¢) TC is the tangent at C.
O 0 TCA=[OABO (Angles in the alternate segment of a circle are equal)
O O ABO = 48°.
Now, OABO + OBTC + OBCT = 180° (Sum of three angles of a triangle is 180°)
O 48° + 42° + OBCT = 180° O 0 BCT =90°
O 0 BCA +48°=90° O 0 BCA =42°
Now, OAOB =2 [OBCA (Angle subtended at the centre is
double the angle subtended at the
remaining part of the circle)
O 0 AOB=2 (42°) = 84°,

Q.3.(a) Find the maturity value of a recurring deposit of Rs 75 per month for 48 months at the expiry
periods, if the rate of interest is 9% p.a.
(b) At each corner of a square park of side 40 m, there is a flower bed in the form of N
a sector of radius 14 m as shown in the figure. Find the area of the remaining
part of the park.
(¢) A point P(x, y) is reflected in X-axis to P'(2, — 3). Write down the values of N I§
x and y. P" is the image of P, when reflected in the Y-axis. Write down the co- -

ordinates of P". Find the co-ordinates of P" when P is reflected in the line x = 4. < W,
Sol. (a) Monthly instalment = Rs 75 40m
Rate of interest =9 %
Here x = 48
Interest = %5 X 48(42 ) Xé x 1(9)05 =Rs 661-50
Monthly amount = Rs (75 x 48 + 661:50) = Rs 4261-50
O Maturity value = Rs 4261-50

(b) Each side of square park = 40 m
Area of square park of side 40 m = 40m x 40m = 1600m>
Radius of the flower bed sector = 14 m

1 1 22
Area of flower bed of one sector= —T02 = — x — x 14 x 14 ., P pr
4 4 7 Pisa 2 P *(6.3)
= 154 m? (23) 12 P@3
L1
Area of the 4 flower be sectors = 154m? x 4 X' —— > X
=616 m? 219123456
Hence area of the remaining part of the park :g 2.3
= (1600 — 616)m? = 984 m?. P
(¢) Clearly, the values of xand y are : x =2,y =3 x=4
Coordinates of P" are (-2, 3).
The coordinate of P are (6, 3). vy v

(iii) e-mall : evergren@del3.vsnl.net.in
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Q.4.(a) If 2 sin A — 1 = 0 then show that : sin 3A = 3 sin A — 4 sin’ A.

(b) Given that x [ N, solve the following inequality and graph the solution on the number line
-12<3-4x<11.
(¢) Find the mean of the following distribution :

Age (in Years) 5-15 15-25 | 25-35 | 35-45 | 45-55 | 55-65| 65-75

Frequency 6 10 15 13 24 8 7
Sol. (a) 2sinA-1=0 O 2sin A =1
1
O sin A = 3 O A =30°

L.H.S. = sin 3A = sin 3 (30°) = sin 90° = 1
R.H.S. =3 sinA — 4 sin®A = 3 sin 30° — 4 sin® 30°

:3515_4515’:;_&:3_1:1
BH THRH 2 s 2 2

0O LH.S. =RHS.
(b) The given inequality is : — 12 <3 —4x < 11

O —12-3<-4x<11-3 O —15 <—4x<8
15 3
0 —2x2-2 Or 3— 2x2-2
4 4
3
Or —-2<x<3-—
4 I
SincexDN Dx: {1,2, 3} 3 -2 -1 0 1 2 3 4
(¢) Arrange the distribution as under :
Class interval Frequency (f;) Class marks (x;) fixi
5-15 6 10 60
15-25 10 20 200
25-35 15 30 450
35-45 13 40 520
45 -55 24 50 1200
55-65 8 60 480
65175 7 70 490
Zfl- =83 Zfl-xl-=3400
0 Mean— &3 _ 3400 _ 0 o
ean Zfi =3 years

(SECTION : B (40 MARKS) )

(Attempt any four questions from this section)

Q.5.(a) A tent of height 33 m is in the form of a right circular cylinder of diameter 120 m and height 22 m
surmounted by a right circular cone of the same diameter. Calculate the total surface area of the tent.

1 1
b) P that : + =2 0
(b) Prove tha secO+tan® secO—tanO se¢

(¢) In the given figure, AB is a diameter of the given circle.
APQ and, RBQ are two straight lines through P and B, If
OBAP = 35° and OBQP = 25° then find (/) OPRB
(@) OPBR (iii) OBPR
Sol. (a) Height of the cone = (33 -22) m = 11 m.
O Slant height of the cone

= 602 +112 m= /3721 m = 61m.

(iv) e-mall : evergren@del3.vsnl.net.in
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[0 Total surface area of the tent
21rh + Tl = Tvr(2h + 1)

€
™
=2—72X60(44+61) T\ v
22 E
= x 60 x 105 m? = 19800 m? N
o + b =2secH l L—]
secO+tan 6 secO—tan 6
1 1
LHS. = secO+tan 0 - secO—tan 6
_ secO-tanB+secO+tan 6  secB+sec O
sec? B—tan’ @ sec” ©—tan’ 0
=2sec O =R.H.S. (s sec’®@ —tan’8 = 1)
(o) UPRB = [JPAB (Angles in the same segment of a circle are equal)
OOPRB = 35°
- AB is the diameter of the circle
O 0 APB=90° (Angle in the semi-circle is 90°)
Also, OPRB + OPQB + ORPQ = 180°
O 35° +25° + ORPQ = 180°
O 0 RPQ=120°
And, 0OQPB = 180° — 90° (since JAPB = 90°)
O 0 QPB=90°.
Now, OBPR = ORPQ — OQPB (see fig.)
O 0 BPR=120° —90° = 30°.
Now, OPBR = 180° — (OPRB + OBPR) [-- OPBR + OPRB + OBPR = 180]
O 0 PBR=180°-35°-30°
0 0 PBR=115°
Q.6.(a) A page from Neha’s passbook is given below :
Date Particulars Withdrawals Deposits Balance
1.10.05 BF — — 5000
9.11.05 By cash — 8000 13000
8.12.05 By cash — 8000 21000
20.12.05 To cheque no. 0483 9000 — 12000
25.1.06 By cash — 8000 20000
16.2.06 By cash — 8000 28000
27.2.06 To cheque no. 0484 19000 — 9000
7.3.06 By cash — 8000 17000
4.4.06 By cash — 8000 25000
18.4.06 By cash — 2000 27000
27.5.06 By cash — 8000 35000
14.6.06 To cheque no. 0485 10000 — 25000

Neha closes the account finally on 24.06.2006. Find the interest she gets from October, 2005 to the
day of closing of the account at 3.5% p.a.

Ok
(b) Find x, y, zand w, if 3 HT

yo &

w H= HE+W

x+yOd [k

3 H+ H—l ZWH

(¢) Write down the equation of the line passing through (-3, 2) and perpendicular to the linex+3y—-5=0
Sol. (¢) Minimum balance for the month of October = Rs 5000

November = Rs 13000
December = Rs 12000
January = Rs 12000

()
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(b)

(©)

Q.7.(a)

®

February = Rs 9000
March = Rs 17000
April = Rs 25000
May = Rs 27000

Rs 1,20,000
) 1,20,000 x 3-5 x1

Now, interest = 10()—><12 = Rs 350.

3 o yO @ x+y|:|+ k 60

3 wH Bew 3 B o2

0 Bx 3y0 @ x+yD+Dc 60

Bz awd H+w 30 H1 24f
0 Bx 3y0 DOh+x x+y+60

Bz 3wH  H+w-1  3+24H
Now compare corresponding elements

3x =4+x O 3x—x=4
0 2x =4 0 x=2
Also, 3y =x+y+6
O 3Jy—y=x+6 O 2y=2+6=8 (Putx=2)
8
O =—=4 O =4
y 5 y

Also, 3w =3+ 2w 0 3w 2w=3
0 w =3
and 3z =z+w-1 and O 3z—z=3-1. (Put w=3)
0 2z =2 z=

Now,x=2,y=4,z=1,w=3

The given equationisx +3y—5=0
O-10 5

= _ = + —

O 3y x+5 O y B?Hx 3
1

O Slope of this line = -3
Now the slope of the required line = 3.
Also, required line passes through (-3, 2)
O y—=2=3(x+3) [ y—yi=mx-x)]
O y—2=3x+9 O y-3x-11=0

Which is the required equation of the line.

The details of income and investments of Mr. Mathur for a particular year are as given below :

Annual Salary Rs 250000.

LIC Premium Rs 18000 p.a.

Provident Fund Rs 3500 per month

Tax deducted at source for first 11 months Rs 2600 per month

Calculate the tax payable in the last month of the year.You may use the following:

Tax Slab Income Tax

Upto Rs 50000 No Tax

Rs 50001 — Rs 60000 10% of the amount exceeding Rs 50000

Rs 60001 — Rs 150000 Rs 1000 + 20% of the amount exceeding Rs 60000

Rs 150001 and above Rs 19000 + 30% of the amount exceeding Rs 150000

Standard deduction 1/3rd of the total annual income subject to a maximum
of Rs 20000.

Rebate in tax 20% of the total savings subject to maximum of Rs 12000.

Education cess 2% of the tax payable after rebate.

From the top of the cliff 200 m high, the angles of depression of the top and bottom of a tower are

observed to be 30° and 60°, find the height of the tower.

(vi) e-mall : evergren@del3.vsnl.net.in
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Sol. ()

(b)

Computation of taxable income :
Gross annual income = Rs 250000
Standard deduction = Rs 20000
a Taxable income = 230000
Computation of income tax.
As the taxable income is above Rs 150000

O Income tax = Rs 19000 + 30% of the amount exceeding Rs 150000

30
=Rs 19000 + —— % 80,000 = Rs (19000 + 24000) = Rs 43000

100
Computation of rebate
L.I.C. Premium = Rs 18000
P.F.=Rs 3500 x 12 = Rs 42000
Total Rs = Rs 60000

O Tax rebate = 20% of Rs 60, 000 subject to maximum of Rs 12, 000

=Rs 20 % 60000 = Rs 12000
100

Computation of income tax payable = 43000 — Rs 12000 = Rs 31000

2
Education cess = Rs 2% of the income tax = Rs 7— x 31000 = Rs 620

100

Net income tax = Rs (31000 + 620) = Rs 31620

Advance tax paid for 11 months.
=Rs 2600 x 11 = Rs 28600
Hence, tax payable in the last month

=Rs 31620 — Rs 28600 = Rs 3020

Let P be the top of the cliff MP = 200 m.

Let SR = h be the tower.

From R, draw RL [J on MP.

Since OAPR = 30°

O O LRP =30° (Alternate angles)
Since OAPS = 60°

O O MSP = 60° (Alternate angles)
Now RL =SM .(0)

LP =MP - ML =MP - SR =200 -1
Inin rt O0d A PLR

RL = cot 30°
LP
RL
. 200-n V3 .
In rt Od APMS
SM
MP cot 60°
SM 1
0 200 E 0
From (i) an (iii) we get
200
=5
From (iv) and (ii) we get
200
f =(200—h) /3 O
O 200 = 600 — 3A. O
400
O h = 3 133-33m.

Thus, required height of the tower = 133:33m
(vii)

A

»
»

300

<
<

Y
[e8)
<
|
< — )
<4+—h—>»<«—200-h—>»
200 m

RL =(200-h) /3 . (if)
_ 200

SM = 5 ....(iii)
(iv)

200 = (200 — /) 3
3h =600 —200 = 400 m.

e-mall : evergren@del3.vsnl.net.in




EVERGREEN
SERIES

Q.8. (a) In the adjoining figure, AC is the diameter of circle with centre O. Chord

BD is perpendicular to AC. Write down the angles p,q,r in terms of x.

(b) A lady holds 1800 Rs 100 shares of company that pays 15% dividend
annually. Calculate her annual dividend. If she had bought these shares at
40% premium, what percentage return does she get on her investment.
Give your answer to the nearest integer.

(c) If the point (x, y) be equidistant from the points (a + b, b — a) and (b — a, a + b),
prove that bx = ay.

Sol. () Now q = % (. Angle at the centre is double as compare to the circumference)
Clearly, ¢+ OCBD +90° = 180° (. Sum of three angles of A is 180°)
0 % +90° + OCBD = 180°
Also, OCBD =p (Angles in the same segment are equal)
X
O =90°— —
P 2
Now, 0OBOC = 180° —x (- OBOC+ x = 180°)
1 1
O r =[0BDC = 5 (180° — x) (~- OBDC = > 0OBOC)
X
O =90° - —
g 2
Hence, p =90°— %,q=%andr=90°—g.
(b) Number of shares = 1800.
Face value of 1 share = Rs 100
Dividend = 15%
15
O Annual dividend = Rs (15% of 1800 x 100) = 100~ 1800 x 100 = Rs 27000

Total investment in purchasing 1800 shares at 40% premium.

140
=Rs —— x 100 x 1800 = Rs 2,52,000

100
O Return % = 27000 x 100 =10-71% = 11%
252000
(c¢) Let the point P (x, y) and A (a + b, b—a) and B (a — b, a + b)
Then PA =PB (" P is equidistant from A and B)

Ja—(@+0)2 +(y-(b-a)* = J(x—(a—b))* +(y—(a +b))’

Solving \/(x—(a +b)? +(y—(b-a))®

= Jx? +(a+b)? ~2x(a +b) +3* +b ~a)* ~2y(b ~a)

= \/x2 +a® +b* +2ab—2ax —2bx +y2 +b* +d® —2ab —2by +2ya

Solving +J(x —(a —))* +(y— (a +))’

= x? +(a=b) ~2x(a=b) +3* +(b +a)* ~2y(b +a)

Now we have = \/x2 +a® +b> —2ab—2ax +2bx +y2 +b* +a® 2ab- 2by 2ay
Squaring both sides and simplify the equations.
x2+a? + b? + 2ab — 2ax — 2bx + y* + b* + a® — 2ab 2by + 2ay.

=x>+a*+ b*—2ab — 2ax + 2bx + y* + a*> + b* + 2ab — 2ay — 2by

O —2bx —2bx =-2ay —2ay
—4bx =—4ay
bx = ay.

(viii) e-mall : evergren@del3.vsnl.net.in
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Q.9.(a) A train covers a distance of 600 km at x km/hr. Had the speed been (x + 20) km/hr, the time taken to
cover the distance would have been reduced by 5 hours. Write down an equation in x and solve it to
determine x.

3x—2 , when x<0
) Iff(x)= -2 , whenx=0
x+11 , when x>0
find f(-1) and f(3)
(¢) A cylinderical can whose base is horizontal and of radius 3-5 cm contains sufficient water so that

when a sphere is placed in the can the water just covers the sphere. Given that the sphere just fits
into the can, calculate :

(i) the total surface area of the can in contact with water when the sphere is in it.

22
(i7) the depth of water in the can before the sphere was put into the can. Take 1= Kl and give your

answers in proper fractions.

Distance Distance
1. = . skt
Sol. (a) Speed Time 0 Time Speed

600 600 Ol 1 O

O R = “Ty—T, = - =
X x+20 > ( 2 1= . 600 B; x+ZOH .
o 20 0O 600%20
O = =x"+
600 G20 5 0 . x? +20x
a X +20x — 2400 =0 a x% + 60x — 40x — 2400 =0
O x(x+60)—40(x+60) =0 0 (x+60)(x—40)=0
0 x =40 0 x =40
(b) To find f'(—1), we use f(x) =3x — 2
a fE)=3-1)2=-3-2=-5 N
To find £ (3), we use f(x) =x + 1 h-h,
a f(3)=3+1=4 3.5
(c) Diameter of cylinder = 4 of cylinder 35 | 35 h] 7 cm
O r=35cm;h=7cm ' '
v
Before immersion After immersion

(i) The total surface area in contact with water
= base area + curved surface area
=10 + 210h = TU (r + 2h)

22 35 [BS

B ERET) %+2x7ﬁcm2= ll%+l4ﬁcm2= 11%7%28%&

11 x E’;ﬁ cm? = 1925 ¢cm?

(ii) Volume of water in the can before the sphere was placed in it = volume of cylinder — vol. of sphere

4
w2h, = 10h — ET[r3

0 m2h, =nr2§1—frﬁ
3
D hl = _EXZD
3 2
0 hy = 21-14 7
1 = 3 = 3 cm
. 7
So depth is = 3 om.

(ix) e-mall : evergren@del3.vsnl.net.in
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Q.10. (@) In the given figure, PQRS is a parallelogram, PQ =16 cm, QR =10 cm, L is a point on PR, such that
RL: LP =2 : 3, QL produced to meet RS in M and PS in N. 10

(/) Prove that ARLQ ~ APLN, hence find PN. g

(i) Name a triangle similar to ARLM. Evaluate RM as a fraction.

R

z
\ 4

S P
(b) Attempt this questions on a graph paper. The table shows the distribution of marks gained by a
group of students in an examination :

Marks less than 10 20 30 40 50 60 70 80 90 100
Number of students 5 10 30 60 105 180 270 355 390 400

Plot these values and draw a smooth curve through the points. Estimate from the graph (i) the
median marks (if) the quartile marks.
Sol. (a) (i) In a As RLQ and PLN, we have :

ORLQ = OPLN (vert. opp. Us ).
ORQL = OPNL (RQ || NP these are a pair of alt. int. [s)
O A RLQ ~ APLN (By A.A. similarity)
- RL _RQ
PL PN
O % = % ﬁ %=%&RQ=IOcmgiven£
O 2PN =30
O PN =15 cm.
(ii) Now, ORLM = OPLQ (vert. opp. Us)
Also, OMRL = 0OLPQ (alternate int. [s)
0 A RLM ~ APLQ
RL RM 2 RM
O — = o= O T =
PL PQ 3 16
32
O RM = — cm.
3
(b) Marks less than No. of students
Less than 10 5
Less than 20 10
Less than 30 30 1
400+
Less than 40 60
Less than 50 105 ksaail /
Less than 60 180 300
Less than 70 270 T 250 /
Less than 80 355 % 200
Less than 90 390 % 1504
Less than 100 400 it
(/) Median mark = 62-5 50+
(i) (a) Lower quartile = 49

e+,
O 10 20 30 40 %0 60 70 80 90 100X

(b) Upper quartile = 72-5 e

(x) e-mall : evergren@del3.vsnl.net.in
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Q.11. (a) Construct a cyclic quadrilateral ABCD in which AC = 4-5 cm, JABC = 45°, AB =3cm and AD =2-3 cm
(b) A (2,-4),B (3,3) and C(- 1, 5) are the vertices of AABC. Find the equation of the median AD from
the vertex A to the opposite side BC. Also find the length AD.
1 2 4
+ =
x+1 x+2 x+4

(¢) Solve the equation : sx#E-1,-2,-4.

Sol. (a) Steps of Construction
(i) Draw the line segment AC = 45 cm.
(i7) Construct OCAE = 45°.
(ii7) Draw the right bisector PQ of AC.
(iv) Draw FA O AE, intersecting PQ in O.
(v) With O as centre and radius equal to OA, draw a circle.

(vi) Taking A as centre and radius AB = 3 c¢cm draw an arc, cutting the major
arc CA at B.

(vii) With A as centre and radius AD = 2-3 c¢m, draw an arc to cut the minor arc AC at D.
(viii) Join BA, BC, DA and DC. Then, ABCD is the required cyclic quadrilateral.

(b) Let the given triangle is ABC
The coordinates of A (2,—4), B (3,3) and C (- 1, 5). and A, B, C are vertices of AABC.
AD is the median from the vertex A on the opposite side BC.
The co-ordinates of D are

B-1 3+50
D= —H=(1,4 A(2,-4
2 2 B (4,4 ( )
So the equation of AD
4-(4) Y=y
yt4= =) &-2) [vy-yi="— (x—x))]
- Xy =X
8
O yra=— (-2
0 —y—4=8x-16 B(3, 3) D(L. 4) C(-1,5)
0 Sx+y—12 =0
(¢) The given equation is
1 2 4 (x+2)+2(x +1) 4
wrl T xez  vea - D+ x+d
0 (+4)Gx+4) =4@x+1)(x+2) O 32+ 12x+4x+ 16 =42+ 2x + x +2)
O 32+ 16x+16 =4 (x> +3x+2) 0 3x2+ 16x + 16 =4x* + 12x + 8
O —x2+4x+8 =0 0 xt—4x -8 =0
Comparing with ax> + bx + c =0, we geta=1,b=—4,c=-8
. L R G e S 4:48 _ 42163
2x1 2 2
41443
. B3 20x2V3) . 2123

2 2

O The roots of the given equation are 2 + 2 NE)
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